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Codeforces Round #641 (Div. 2)

A. Orac and Factors
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#include <stdio.h>
int main

int t;

scanf("%sd",&t);
int kkk=1;kkk<=t; kkk++

int n,k;
scanf ("%d%d",&n,&k) ;

o)——
o

printf("%sd\n",n+k*2);

int i;
i=2;i<=n;i++
N%1i==
’

printf("sd\n",n+i+(k-1)*2);

B. Orac and Models

O0000000000% n$0000000000D00O%$s n$00O00n0n
1.$s i\ mod \'s_{i-1}=0,\forall 1<i\le n$

2.$a {s {i-1}}<a {s i} \forall 1<i\le n$

O$dplil$C 0 %s i$000000O%Is0000O0O0OO0OO
$dpljl=\max(1,dp[i]),j>i0 j\ mod\ i=0$
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#include <stdio.h>
#include <string.h>
#include <iostream>
using namespace std;
int dp ;

int a ;

int main

int T;
scanf("%sd",&T) ;
T--

memset (dp,0,sizeof(dp));
int n;
scanf("%sd",&n);

int i=1;i<=n;i++

scanf("%d",&ali]);

dplil=1;
int i=1;i<=n;i++
int j=2*i;j<=n;j+=1
aljl=ali

dp!jl=max(dp|[j!,dpli/+1);
int ans=0;

int i=1;i<=n;i++
ans=max(ans,dp/i]);
printf("%sd\n",ans);

C. Orac and LCM
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#include <stdio.h>
#include <stdlib.h>
#include <algorithm>
#include <vector>
using namespace std;
long long a[200001];
int pow(int a,int b

int an=1;
int i=1;i<=b;i++
an*=a;
an;

int main

srand(2);
int n;
scanf("%sd",&n) ;
int i=1;i<=n;i++
scanf("slld",&ali
n==2

.
’

printf("slld",alll*al2]/ gcd(alll,al2

0;

long long an=0;
int i=2;i<=n;i++

an=_gcd(an, (alil*ali-1])/ gcd(alil,ali-1

int time=0;

vector<int> fact;

int tmp=2;
an>=tmp

anSstmp==0
fact.push back(tmp);
an%stmp==0
an/=tmp;
tmp++;

int ans=1;
auto factor:fact

vector<int> sorts;
int minl=1e9,min2=1e9;
int i=1;i<=n;i++

int now=0;
int p=alil;
psfactor==0

.
’
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p/=factor, now++;
sorts.push back(now);

sort(sorts.begin(),sorts.end(), int a,int b
a<b;
sorts.size( )<=
min2=0;
min2=sorts ;

ans*=pow(factor,min2);

printf("%sd",ans);
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